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lS6Dq
I1CI000

?
lcm rep. lSkm

lOcm rep. (15 x lO)km

lOcm nep. l50km

J

(o).eve n

(b). freXuency

q V =LxWxH
V =5mx5mx{m
V = 120m3

V = (120 x 1000) litres

V = 120,000 litres

5

T =(12:00-8:00)*2hr

T =9hn*2hr

T = 6hrs

The Journey took 5 hours

6
Hint: Comp. ongles odd up

to 90"

to =QQo-t{to

= 17"

7
= (2115 x,:loo) - 2Ll6

= 2t{,600 - 2T6

= 2{,359

8

Av
sum of items

number of items

6t+ 52 + 48+ 21 + 58

240=-
5

={6

I 7,000,000
700,000

+

7,7 00,007

t0 =8x l;000+5x100,000

= 8,000 + 500,000

= 508,000

il -23+6 =-|7
-17+6 =-ll'
-ll +6 =-$
-5+6 =l

-23: -17; -ll; -5; 
I

t2

= B5o + (aso . #)
= 850 +170

= !,O20

t3
Hint: Follow BODMAS

=(250+lEO)-15+3

=t130-5

= Ll25

Irt Hint: Neg. removes the brkts

3x. 5x+2 =Q
-2x*2-Z =0-2

-2x -2

=--2 -2

x =l

t5 Hint: Prime numbers ore

numbers with only two

foctors i.e one ond itself.

=2,3,5,7

l6

I ho = l00o

0.25ho=2s vlgg

= 2Sores

17

I

I

lr*o

t8
3600

TL =_ext.angle

360()
=-

200

= 18 sides

t9
3720 + 60 = 62 min 00sec

62 + 60 = lhr' 2min

Therefore:

3720sec = lhour 2mins

?o
(o). AnB = 13,ll ,?71

(b). Set B is o subset of set A

2t (t00-t6)% +{,200F

E9% -+ t{,200F

to, . 4,2OO
lla

84

roo% -1%#
-+ 5,000Frw
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-F

li,i

ilii
iil

fi

ll
!.i,'
rri,
It',i,'

?z
r =Di-2

= 28m -i 2 = lt{cm

A = 7TT2
"22
=Txlt{mxltlm
= 515 m2

23 Hintr Sum ond difference ore given

_ 32+LO 42Boys=.1--=-=2122

32-70 22(iinls=1.-=-=ll
22

2q L2
= 1;; x 280,000

= 33,600

25 3
= - x 10,000

5

= 6,000Frw

26

= I x 70,000

= 105,000Frw

27 Hint: Sum ond difference ore given

n 75000-15000DOg=T
60000

2

75000+ 15000
Sci.bk=

2
90000=: = Ll5,000Frw

?
?E f PTR 600000 x2x4

100 100

= u8,000Frw

A=P*I
= 500,000F + t18,000F

= 6t18,0O0Frw

29
(o). Duo decogon

(b). Ext - 3600 
- 

3600

,n8
= rl50

Int =180"-Ext

= l80o - {5"

= 135"

30 A LSdmz
ll,vv=-L SOcm

- (75 x1.oo)cm2

SOcm

_'J.5O0cm2
SOcm

=30cm
3l

. 40,000Ft'w
Port - a-
port = 13,333.33

port = l3,333Frw

ponts=13,333Xtl

" =53,332 Fnw

3 ports = Ll0,000Frw

(b)" "13,333X$

= 65,66$Frw

(c). *6333X1?

* l5{,{t6Frw

32 (o). =?+1 +1653
_ 10+6 +10 

=r: =E30 30 15

(b). =E-E ='15 15 15

(c).' =Hrq'oo @' 
= 7,800 people 

I 
= 3,OOO women

(d)M =f,sooo l*, =Jxeooo 
I

- 
= l,8oo men I = 3'ooo children 

I
33 (o).v =trrzh l'"

=3.F{xlxlxrl 
I

(b) =*itr"-;; 
I

10 \10
3=10l

/ \ 60000 x10 Itc,' 

=,oir*"- I

(b). 35 pupils

(c).80

(d).,t2

(e). 5 pupils

x lB

30 5
r.l0 8

12 t0

50 2

70 r1

80 6

3t2 35

35 (q).D =SxT
=20x3
= 60km

(b).T.D=60x 2=l2Okm
(c). T.T= 3 * I = tl hours

(d). A.s =Y
T.T

_ 120 x1000
4 x3600
1

= 8i m/s
3
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